Chapter 5 A K3EFT J-97

=
12 2 e a2

[ERHRA]
T RHIERE R - ¥ KRR Ak RO H

BRI T B - R —
B iR TR R F RS - SRR TR 2 Y R ERAY
i (divide and conquer ) - JEAENRAT 2B (B Bz H B R 5T -
Y (recursive ) AR EEPEIEEE (nonrecursive ) F27 % T HREREH iz
AR SRR EA S T # - SER Y RE TR
B BRH B IR RS R
FRESHCPURE - TR 3 ERER e L, -
& B B
E m ’%’?ﬁ'ﬁﬁ%ﬁﬁﬁ ERSia PR Cr v L i

FEEE | EE YT - AR - KA FiREEE -
B FJE (nonrecursive ) B A (version ) 3F¥ #Z fiiterative version -




5-98 FHAMmmgan (Lb)

@ Wi (EER)
r]:g FRFE il TR PHGCDES ¢ ?
[#%]
GCDZBE 4
int gcd(int m, int n)
{
if (m<0)
m=-m; //s N 2T PR T
if (n<0)
n=—n; /AN REREET
while (n!=0) /FH]d|at'd|b = d|matnb> Ef[i m,ne Z-
{

int temp = m;

while (temp>=n)
temp = temp — n;
m=n; //let m always bigger than n
n = temp;
H

return m;
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int ged(intx, inty) {
if (x mod y) / x mod y !=0
return ged(y, x mod y)
else // if x mod y ==0

return y,

}
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¥|~ Fibonacci ByEFpy g0 -
F(n) = F(n—1) + F(n—-2), n>=2 -
F(1)=1,F(0)=0 -
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int fib(int n){
if(n<=1) return n ;
return fib(n—1) + fib(n—2) ;
}
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typedef int result_value, input_value; //{fi ™ [ | I EE[H]]

result_value Fibonacci(input_value n) {
if(n<=1) return n ;
int Fibonacci n0=0 ; Fibonacci n1=1 ;
for(inti=2 ; i<=n ; i=i+1){
Fibonacci_now=Fibonacci_n0+ Fibonacci_nl ;
Fibonacci n0=Fibonacci nl ;
Fibonacci_nl=Fibonacci_now

}

return Fibonacci_now ;
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typedef int result_value,input_value; //{fli ™ | f 1 EE]f]]
result_value SUM_LOOP(input_value n) {

int Sum = 0;
For (int i=1 ,i<=n,i ++)
Sum=Sum+i ;

return Sum,;

}
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typedef int result_value,input_value; //ffi™ | ¥ [ 12l
result value SUM_RECURSION (input valuen) {

int Sum = 0;
If (n<=1)
return Sum,;
else
return Sum =n + SUM_RECURSION( n—1);
}
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ﬁ% ] C/C++Java (£ — & F;[ 5~ (i function » | I f [l $Tn2fi 0 15 3% % B
(Fibonacci) » J[I™™ G :

int Fib (int n) ; / /2 nZFIpug b= R

Fib (1)=1,Fib (2)=1, Fib (3) =Fib (1) + Fib 2) =2,---,




